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ECONOMICS

[HONOURS]
Paper : 111

Full Marks : 100 Time : 4 Hours
The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in

their own words as far as practicable.

Answer all the questions.

GROUP-A
1. Answer any two questions: 1x2=2
@-CHIe g 2o T wie ¢
a)  What is lerner measure?
BIRIEE P
b)  What do you mean by Monopoly?
Monopoly IS F @RI ?

c) Mention two important features of

monopolistic competition.

GG Ao qraica 7o wwgsid (e
LA

d)  What is marginal revenue product?

2NfEF SN T Ve I 06T 2

[Turn over]

41(A)

Answer any six questions:

2x6=12

@-(FI =B G449 T 7ie ¢

a)

b)

c)

d)

g)

h)

What is bilateral monopoly?

fasiifErs @pobal Sl FICP 012

What is quasi-rent?

ARG FICF AT 2

What do you mean by general equilibrium?
AR SRPAS IS [ (@R 2

Mention two sources of monopoly power.
GG Tl vt S Srar 4 |

What is 'pareto optimality'?

'Pareto Optimality' FICF CeT2

What do you mean by monopolistic exploitation?

G oAl ReFeia eiRe 9e10e i @Ri?

What is natural monopoly?

FOI GFOHA P FIF W= 2

What is first degree price discrimination?
G2 QIR 7S LR F 2

What is utility possibility frontier?
AT AR FI T 2
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Answer any two questions:

6x2=12

@I BB 2Aeea Ted 7l ¢

a)

b)

d)

Answer any two questions:

Distinguish between 'adverse selection' and
'moral hazard' in insurance markets. Can one
exist without the other?

e A s SEe @ Efes e s
Ay 41 @I T = JfoEe T A
A2

Using a suitable model analyse the phenomenon

of price leadership in oligopoly.

TS WOER ARE Sfetalisifere ww iz
(Tol PR s 591

Write a short note on multiplant monopolist.
G TA (FREAME GO FIA S2IF
GG < Bl (=74 |

Why are there several models in oligopoly
market structure?

Sfercallsifel et GHIfKe Aot AR (@2
12x2=24

@I BB 2Aeea Ted 7l ¢

a)

Explain diagrammatically how monopoly causes
misallocation of resources and thereby causes
loss of social welfare. 12
GF oA FIAAE [FOICI AWM 2705 @R
oREfe AN Ferpiced el 2@ AT ©f b
ARECAT RN F |
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b)

d)

What is price discrimination? When is it

possible? When is price discrimination

profitable? 2+5+5=12

ISl 22T FIF A 2 FA 22 AGI9 T 2 A

VIS 7R FACET T3 ?

1)  Can trade unions raise wages without
producing an adverse effect on the level

of employment?

wifss 719 T wfii faiiers e fenel efefam
G2 el e FACS AN 2

11)  When is an equilibrium called pareto
optimal?
O3B SR ST FL 20! P el
77 ?

111) What are the conditions for a pareto

optimality in a two person, two
commodity pure exchange model?
5+2+5
2 o e, b w@ra o [fer afest
AN P SRR *eefer [

Compare the effect of lumpsum profit tax vis-

a-vis per unit sales tax on the optimal price and
output decision of a monopolist. 12
GG GBI P 713 € AT Pranicest
G QAN LW I S 95 2ifee 2 Rarw
SISERACIEAVE DI

[4]
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GROUP-B

Answer any four questions: 2x4=8

@I orafo 2 Ted wie ¢

a)

b)

g)

What is accelerator?

QY PICF ACST 2

What are different components of money supply
in India?

Sl Sd @9 [fen Gomef e

What is the difference between Autonomous

investment and Induced investment?

Fge Kol ¢ Tge [fFweE s ek [
What is credit multiplier?

A B PICP AT 2

Why does liquidity trap arise?

ST W (el G5 ?

What is 'NBFC'?

‘NBFC’ SItF 071 2

Between the economic impact of inflation and

deflation which one is more harmful?

YWIFHINS @ UPREEHET & @Foa wLies
iz wimon wfowa ?
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6. Answer any three questions:

6x3=18

@I FeaiB asa Ted mia ¢

a)

b)

d)

41(A)

In the multiplier-accelerator model of

Samuelson we are given :

Y, =C+I, C, =08y, [ =02 (Wt—l - Wt—z)

Examine the nature of the time path of income.
6

TR @593 efeFslb (A D! A2 ¢

\Ilt = Ct +It’ Ct = 0-8\|1t_1» It = 0'2(W1—1 _Wt—z)
SRR SR #/02 &S 2K 57 |

Distinguish between short run and long run

Philips curve.

=

THFEA € AL AIRA Referop] @ 2Ny
fo < |

Distinguish between demand pull and cost-push

inflation.
vifEni-faetee ¢ qE-3fasire Jurdifen s 34|

How does the concept of Present Discounted

Value (PDV) influence the investment decision?

6
‘PDV’ aelllt eim RiN@iem P geie
P2




e)

Answer any two questions:

Briefly discuss the Boumol-Tobin Theory of
money demand. 6

AENT-G T SLoifawl wglb JLERe! SNEv 3 |
12x2=24

@I BB 2Aeea Ted 7l ¢
a)
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b)

i)  Examine consequences of a departure :
ufb SR FeIe 218w 59 ¢
A) of the actual rate of growth from the

warranted rate of growth and
(A e 28 @38
B) of'the warranted rate of growth from

the natural rate of growth.
T ) 2 AM T TSRS 21
(A= e =1 |

11)  Explain how Harrod derives warranted rate

of growth. 4+4+4=12
AT [FeiE TaaEd I 29 e s
©f SEH 4 |

Distinguish between MEC and MEI. Illustrate
graphically the relationship between MEC and
MEL 6+6

MEC @& MEI @3 51t ‘gefell 541 | foeoizaist MEC
@3 MEI @3 St A~>1F (e |
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d)
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Briefly describe the life-cycle hypothesis of
consumption. What are the basic differences
between life-cycle and permanent income
hypothesis of consumption? 7+5=12
FREHCH (ST GIeToG Sl A0l F9 | (SN
GIAbEE @ FIR S SIHCEE T T Al
fae

Briefly compare the quantitative and qualitative

credit control measures of a Central Bank.
12

T (TR WA AT @ welsre el fzrge!
Am oS gorl 34 |



